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100" (COULOMB.BAS,100306)
110 CLS 3

120 DEFSNG A-H,0-Z

130 PRINT " (COULOMB.BAS,100306)" : PRINT
140 P1=3.1415927

150"

160 H=6 - PRINT " H="H Y
170 THETA=100 : PRINT " ©="THETA;"

180 BETA=10 : PRINT" B="BETA ;"

190 FHI=30  :PRINT" @="FH ;"

200 DELTA=20 :PRINT" S="DELTA;"

210 GAMMA=16 :PRINT" v="GAMMA ;" kN/m*

220 Q=20 {PRINT " ="Q ;" kN/m*

230 C=10 :PRINT " c=",.C ;" kN/m*": PRINT

240"

250 'INPUT " H="H

260 'INPUT " ©="THETA

270 'INPUT " B="BETA

280 'INPUT " @="FHI

290 'INPUT " S="DELTA

300"

310 'INPUT " v=",GAMMA

320 'INPUT " q=",Q

330 'INPUT " c="C

340"

350 THETA=PI*THETA/180: 'PRINT" © ="THETA:"

360 BETA=PI*BETA/180  :'PRINT" B ="BETA ;"

370 FHI  =PI*FHI/180 'PRINT" ¢ ="FHI ;"

380 DELTA=PI*DELTA/180: 'PRINT" & ="DELTA;"

390"

400 DH=(Q/GAMMA)*(SIN(THETA)/SIN(THETA-BETA)):PRINT USING "
DH =####.## m ";DH

410 ZC=(2*CIGAMMA)*TAN(PI/4+FHI1/2) :PRINT USING "
2C =t #H# m ", ZC
420 HH=H+DH-ZC :PRINT USING
H' =#### 4 m " HH
430 PRINT
440"

450 X1=(SIN(THETA-FHI))"2 :
460 X2=(SIN(THETA))"2*SIN(THETA+DELTA) :

12
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470 X3=SIN(FHI+DELTA)*SIN(FHI-BETA) :
480 X4=SIN(THETA+DELTA)*SIN(THETA-BETA) :
490 QKA=X1/X2*(1+SQR(X3/X4))(-2) : PRINT USING " KA =#H# 8 ", QKA : PRINT
500
510 PAI=GAMMA*DH*QKA : 'PRINT " pAl= " PAl
520 PA2=GAMMA*HH*QKA : 'PRINT " pA2= ",PA2 : PRINT
530 IF HH>H THEN PA=0.5*(PAL+PA2)*(HH-DH) ELSE PA=0.5*PA2*HH
540 PRINT USING " PA =##HH# #H KN/m ";PA : PRINT
550 IF Q=0 AND C=0 THEN HP=H/3 ELSE IF Q>0 AND C>0 THEN HP=HH/3
ELSE HP=(H/3)*((2*PA1+PA2)/(PA1+PA2))
560 '
570 PRINT USING " HP =####.4## m ";HP : PRINT
580
590 OMEGAL=SQR((SIN(THETA+DELTA)*SIN(FHI-BETA))/(SIN(FHI+DELTA)*SIN(THETA-BETA)))
600 OMEGA =ATN((SIN(FHI)+SIN(THETA)*OMEGAL1)/(COS(FHI)+COS(THETA)*OMEGAL))
610 OMEGA2=OMEGA*180/PI

620 PRINT USING " W =HHHH HHHH rad " OMEGA,
630 PRINT USING " =##H#t## ", OMEGA2
640"

650 B=H*(1-TAN(OMEGA)/TAN(THETA))/(TAN(OMEGA)-TAN(BETA))
660 W=0.5*GAMMA*HA2*(SIN(THETA-OMEGA)*SIN(THETA-BETA))
/(SIN(OMEGA-BETA)*(SIN(THETA))"2)+Q*B

670 PRINT USING " b =###### m";B
680 PRINT USING " W = ##t - KN/m? W : PRINT
690 END
:i—_ sin , zC:Etan Q+£, H'=H +AH -z,
7t Sm(g_ﬂ) e 2 4

__sin*(@-¢) [, [sin@+3)sin(-p) *
A sin? @sin(@ + 5) sin(@ + &) sin(@ — B)

1 ! l ’
Pu=7AHK,, Py, =rHK,, PA:E(PA1+PA2)(H —AH), PA:EPAZH

h _H h _H 2P, +P, o = sin(@ + &) sin(¢ — f) w_sin¢+sin€~a)1
3" " 3 P, +P, Y \sin(g + S)sin(@ - B) OS¢ +C0S - ,
b:Hl—cowtana)’ W:lytHzsm_(6’—a))sm(_6’2—ﬁ)+q.b

tanw —tan g 2 sin(w — B)sin” @
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1)
b
btanﬂ O=a+rxl2 ~rad
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" H m
g kN/m
7t =20 kN/m?
Htana  (btanf+H)/tane
(6.15)
209
7 - - 2 - 2 ()
sin? @sin(0 + 5)11+ S_In(¢+5)s!n(¢_ﬁ)
sin(@ + 8) sin(6 - )
PA:%}/tHZKA‘FQHKA (b)
sing +sin 6 S?n(0+5)5_i”(¢—ﬂ)
1 sin(¢ + 8)sin(@ — )
w=1tan : : o
cos¢+coseJ8!n(0+5)3_'”(¢—,3)
sin(g + &) sin(6 - B)
_ 1 asin(@-w)sin@-p)
W = 27tH sin(a)—ﬂ)sinze +q-b "
b H-cotdtan o) .
tan w — tan S
sin?(6 +
KP = ( : ¢) . : (f)
sin? @sin(@ — 5){1+ S!n(¢+§)s!n(¢+ﬁ)
sin(@ — 5)sin(6 - p)
Po = 5 7iH Ko £ GHK, ()
—sing +sin 0\/?:(9—??:(2+ﬁ)
w=tan" in(¢ + 5)sin(6 - B) .



